



City of West Allis Matter Summary

7525 W. Greenfield Ave. West Allis, WI 53214

R-2009-0105 Resolution In Committee

Resolution to approve bid of Capitol Pavers, Inc. for street construction, sanitary sewer relay, sanitary sewer, storm sewer relay, storm sewer, water main relay, water main, building services and utility adjustments in West Grant Street from S. 68th Street to South 76th Street in the City of West Allis, in the amount of \$1,018,457.47.

Introduced: 4/7/2009 Controlling Body: Public Works Committee

Sponsor(s): Public Works Committee

			and utility adjustn of West Allis, in t	nents in West Gr he amount of \$1,	ant Street from \$ 018,457.47.	S. 68th Street	to South 76th Stre	eet in the City				
			Introduced: 4/7/20	09	Controlling Body: Public Works Committee Sponsor(s): Public Works Committee							
COMM	ITTEE I	RECOMM	ENDATION _	adopt								
		MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED				
ACTION DATE:	1			Barczak								
				Czaplewski Kopplin	,							
4-7				Lajsic								
				Narlock Reinke								
				Roadt	/							
				Sengstock	/							
				Vitale Weigel	/							
				TOTAL	4			1				
Ams	TURE O	F COMMIT	FTEE MEMBE			Mount						
Chair	/		Vice-	Chair		Memb	ber					
COMM	ON CO	UNCIL AC	TION		ADOI	PT						
		MOVER	SECONDER		AYE	NO	PRESENT	EXCUSED				
ACTION DATE:	1			Barczak								
	0000			Czaplewski Kopplin	/							
APR 07	2009			Lajsic	/	FEETER						
				Narlock	1,							
				Reinke Roadt	1							
				Sengstock	1							
				Vitale	1							
				Weigel	0			,				
				TOTAL	(1							



City of West Allis

7525 W. Greenfield Ave West Allis, WI 53214

Resolution

File Number: R-2009-0105 Final Action:

Sponsor(s): Public Works Committee APR 0.7 2009

Resolution to approve bid of Capitol Pavers, Inc. for street construction, sanitary sewer relay, sanitary sewer, storm sewer relay, storm sewer, water main relay, water main, building services and utility adjustments in West Grant Street from S. 68th Street to South 76th Street in the City of West Allis, in the amount of \$1,018,457.47.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Capitol Pavers, Inc. for 2009 Project No. 5 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Capitol Pavers, Inc. for 2009 Project No. 5:

Street Construction, Sanitary Sewer Relay, Sanitary Sewer, Storm Sewer Relay, Storm Sewer, Water Main, Water Main Relay, Building Services and Utility Adjustments in West Grant Street from S. 68 St. to South 76 Street in the City of West Allis

(PLAN FILE NOS. SP-1144, S-1364, S-1365, S-1366, X-804, U-2472, U-2473, W-1252, W-1253)

for the sum of One Million Eighteen Thousand Four Hundred Fifty-Seven dollars and 47/100 (\$1,018,457.47)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds, Storm Water Management Funds, Water Utility Funds, Bond Funds and Funds from Special Assessments.

ADOPTED

APR 07 2009

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

4/10/09

Dan Devine, Mayor

STREET CONSTRUCTION, SANITARY SEWER RELAY, SANITARY SEWER STORM SEWER RELAY, STORM SEWER, WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES & UTILITY ADJUSTMENTS

				Bid B	ond 5%	Bid B	ond 5%	Bid E	Bid Bond 5%		Sond 5%	Bid Bond 5%		Bid B	ond 5%
												Reesman's Excavating			
				Capitol I	Pavers, Inc.	LaLonde Co	ontractors, Inc.	Zignego (Company, Inc.	Super Exc	cavators, Inc.	& Gra	ding, Inc.	C.W. Purpero, Inc.	
				18005 W. Li	ncoln Avenue	P.O. Bo	x 070420	W226 N2940	Duplainville Rd	N59 W1460	1 Bobolink Ave.	28815 B	ushnell Rd.	1190 W. Ra	wson Avenue
				New Berli	n, WI 53146	Milwauke	e, WI 53207	Waukesh	a, WI 53186	Menomonee	Falls, WI 53051	Burlingtor	n, WI 53105	Oak Creek, WI 5315	
	[1	што						Γ	<u> </u>					
	ITEM	·	STIV	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1	Excavation	3,304	Cu. Yds.	\$12.48	41,233.92	\$15.12	49,956.48	\$14.00	46,256.00	\$12.50	41,300.00	\$25.50	84,252.00	\$19.00	62,776.00
2	Borrow Excavation	173	Cu. Yds.	\$10.00	1,730.00	\$22.00	3,806.00	\$20.00	3,460.00	\$10.00	1,730.00	\$14.00	2,422.00	\$6.00	1,038.00
3	Sodding	2,430	Sq. Yds.	\$7.50	18,225.00	\$6.45	15,673.50	\$8.50	20,655.00	\$10.50	25,515.00	\$6.85	16,645.50	\$6.50	15,795.00
4	Asphalt/Concrete Sawing	700	Lin. Ft.	\$2.00	1,400.00	\$1.58	1,106.00	\$2.00	1,400.00	\$2.00	1,400.00	\$1.58	1,106.00	\$1.60	1,120.00
5	Walk & Drive Removal	14,980	Sq. Ft.	\$0.45	6,741.00	\$0.72	10,785.60	\$0.40	5,992.00	\$0.45	6,741.00	\$0.35	5,243.00	\$0.25	3,745.00
6	Curb Removal	4,920	Lin. Ft.	\$3.00	14,760.00	\$2.68	13,185.60	\$3.00	14,760.00	\$3.00	14,760.00	\$3.35	16,482.00	\$2.25	11,070.00
7	Pavement Removal	570	Sq. Yds.	\$5.40	3,078.00	\$3.32	1,892.40	\$7.00	3,990.00	\$5.40	3,078.00	\$4.50	2,565.00	\$3.10	1,767.00
8	Asphalt Surface Removal	310	Sq. Yds.	\$5.40	1,674.00	\$5.00	1,550.00	\$3.00	930.00	\$5.40	1,674.00	\$2.00	620.00	\$2.15	666.50
. 9	5" Concrete Sidewalk	8,630	Sq. Ft.	\$3.60	31,068.00	\$3.17	27,357.10	\$4.00	34,520.00	\$3.60	31,068.00	\$3.60	31,068.00	\$3.20	27,616.00
10	7" Concrete Walk & Drive	6,360	Sq. Ft.	\$4.30	27,348.00	\$4.11	26,139.60	\$5.25	33,390.00	\$4.30	27,348.00	\$4.30	27,348.00	\$3.75	23,850.00
. 11	Curb Ramp Detectable Warning Field	128	Sq. Ft.	\$35.00	4,480.00	\$40.00	5,120.00	\$42.00	5,376.00	\$35.00	4,480.00	\$35.00	4,480.00	\$33.00	4,224.00
12	31" Concrete Curb and Gutter	5,140	Lin. Ft.	\$10.90	56,026.00	\$12.22	62,810.80	\$14.27	73,347.80	\$10.90	56,026.00	\$10.90	56,026.00	\$10.70	54,998.00
13	7" Concrete Pavement	7,510	Sq. Yds.	\$22.22	166,872.20	\$22.50	168,975.00	\$24.27	182,267.70	\$22.25	167,097.50	\$22.22	166,872.20	\$23.35	175,358.50
14	8" Concrete Base	510	Sq. Yds.	\$17.00	8,670.00	\$31.31	15,968.10	\$33.00	16,830.00	\$17.00	8,670.00	\$17.00	8,670.00	\$26.75	13,642.50
15	Pavement Ties	180	Each	\$10.00	1,800.00	\$6.76	1,216.80	\$10.00	1,800.00	\$10.00	1,800.00	\$10.00	1,800.00	\$6.05	1,089.00
16	4" Underdrain, Complete	660	Lin. Ft.	\$10.00	6,600.00	\$4.00	2,640.00	\$10.00	6,600.00	\$18.00	11,880.00	\$7.50	4,950.00	\$12.00	7,920.00
17	Base Aggregate Dense, 1-1/4"	2,830	Tons	\$13.95	39,478.50	\$12.51	35,403.30	\$12.00	33,960.00	\$14.00	39,620.00	\$10.65	30,139.50	\$11.00	31,130.00
18	Tack Coat	52	Gallons	\$5.00	260.00	\$4.50	234.00	\$3.70	192.40	\$4.50	234.00	\$5.00	260.00	\$5.00	260.00
19	HMA Pavement (Type E-0.3)	131	Tons	\$115.00	15,065.00	\$102.00	13,362.00	\$127.00	16,637.00	\$102.00	13,362.00	\$110.00	14,410.00	\$111.00	14,541.00

STREET CONSTRUCTION, SANITARY SEWER RELAY, SANITARY SEWER STORM SEWER RELAY, STORM SEWER, WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES & UTILITY ADJUSTMENTS

•	•			Bid B	ond 5%	Bid Bo	ond 5%	Bid Bo	ond 5%	Bid B	ond 5%	Bid B	ond 5%	Bid Bo	ond 5%
												Reesman's Excavating			
•				Capitol P	avers, Inc.	LaLonde Co	LaLonde Contractors, Inc.		ompany, Inc.	Super Exc	avators, Inc.	& Grading, Inc.		C.W. Purpero, Inc.	
				18005 W. Li	ncoln Avenue	P.O. Bo	x 070420		Duplainville Rd	N59 W14601	Bobolink Ave.	. 28815 Bushnell Rd.		1190 W. Rav	wson Avenue
				New Berlin	n, WI 53146	Milwaukee	, WI 53207	Waukesha	, WI 53186	Menomonee f	Falls, WI 5305	Burlington, WI 53105		Oak Creek	, WI 53154
	ITEM	U	VITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
20	Installing Conduit, Underground	3,687	Lin. Ft.	\$3.50	12,904.50	\$1.00	3,687.00	\$3.00	11,061.00	\$5.50	20,278.50	\$5.50	20,278.50	\$9.50	35,026.50
21	Pavement Marking, Crosswalk, Epoxy 6-i	682	Lin. Ft.	\$5.55	3,785.10	\$5.55	3,785.10	\$5.55	3,785.10	\$5.55	3,785.10	\$5.55	3,785.10	\$5.60	3,819.20
22	Pavement Marking, Stop Bar, Epoxy 18-i	105	Lin. Ft.	\$7.85	824.25	\$7.85	824.25	\$7.85	824.25	\$7.85	824.25	\$7.85	824.25	\$7.90	829.50
23	Removing Pavement Markings	220	Lin. Ft.	\$1.60	352.00	\$1.60	352.00	\$1.60	352.00	\$1.60	352.00	\$1.60	352.00	\$1.60	352.00
24	36" Dia. Storm Sewer Relay	123	Lin. Ft.	\$130.00	15,990.00	\$143.00	17,589.00	\$130.00	15,990.00	\$130.00	15,990.00	\$189.60	23,320.80	\$123.00	15,129.00
25	30" Dia. Storm Sewer Relay	464	Lin. Ft.	\$120.00	55,680.00	\$90.00	41,760.00	\$120.00	55,680.00	\$100.00	46,400.00	\$118.90	55,169.60	\$95.00	44,080.00
26	24" Dia. Storm Sewer Relay	281	Lin. Ft.	\$70.00	19,670.00	\$64.00	17,984.00	\$70.00	19,670.00	\$95.00	26,695.00	\$101.15	28,423.15	\$79.00	22,199.00
27	18" Dia. Storm Sewer Relay	35	Lin. Ft.	\$55.00	1,925.00	\$68.00	2,380.00	\$55.00	1,925.00	\$90.00	3,150.00	\$73.20	2,562.00	\$70.00	2,450.00
28	18" Dia. Storm Sewer	60	Lin. Ft.	\$55.00	3,300.00	\$62.00	3,720.00	\$55.00	3,300.00	\$90.00	5,400.00	\$78.00	4,680.00	\$68.00	4,080.00
29	15" Dia. Storm Sewer	24	Lin. Ft.	\$52.00	1,248.00	\$70.00	1,680.00	\$52.00	1,248.00	\$85.00	2,040.00	\$88.15	2,115.60	\$78.00	1,872.00
. 30	12" Dia. Storm Sewer Relay	222	Lin. Ft.	\$50.00	11,100.00	\$56.00	12,432.00	\$50.00	11,100.00	\$75.00	16,650.00	\$67.45	14,973.90	\$66.00	14,652.00
31	12" Dia. Storm Sewer	486	Lin. Ft.	\$50.00	24,300.00	\$55.00	26,730.00	\$50.00	24,300.00	\$90.00	43,740.00	\$51.40	24,980.40	\$65.00	31,590.00
32	10" Dia. Storm Sewer	6	Lin. Ft.	\$50.00	300.00	\$131.00	786.00	\$50.00	300.00	\$50.00	300.00	\$56.00	336.00	\$108.00	648.00
33	5'-0" Dia. Storm Manhole (7)	49	Vert. Ft.	\$280.00	13,720.00	\$275.00	13,475.00	\$280.00	13,720.00	\$200.00	9,800.00	\$376.25	18,436.25	\$375.00	18,375.00
34	4'-0" Dia. Storm Manhole (4)	31	Vert. Ft.	\$240.00	7,440.00	\$164.00	5,084.00	\$240.00	7,440.00	\$175.00	5,425.00	\$222.80	6,906.80	\$240.00	7,440.00
35	3'-6" Dia. Storm Manhole (6)	32	Vert. Ft.	\$225.00	7,200.00	\$193.00	6,176.00	\$225.00	7,200.00	\$175.00	5,600.00	\$223.45	7,150.40	\$340.00	10,880.00
36	Rebuild 3'-6" Dia. Storm Manhole (7)	16	Vert. Ft.	\$325.00	5,200.00	\$489.00	7,824.00	\$325.00	5,200.00	\$300.00	4,800.00	\$465.00	7,440.00	\$445.00	7,120.00
37	6" Dia. Building Storm Sewer (25)	400	Lin. Ft.	\$50.00	20,000.00	\$50.00	20,000.00	\$50.00	20,000.00	\$80.00	32,000.00	\$75.50	30,200.00	\$70.00	28,000.00
38	Catch Basin Replacements	3	Units	\$1,100.00	3,300.00	\$1,550.00	4,650.00	\$1,100.00	3,300.00	\$950.00	2,850.00	\$1,499.00	4,497.00	\$1,120.00	3,360.00

STREET CONSTRUCTION, SANITARY SEWER RELAY, SANITARY SEWER STORM SEWER RELAY, STORM SEWER, WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES & UTILITY ADJUSTMENTS

•															
•			Bid Bond 5%		Bid Bo	Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		ond 5%	Bid Bond 5%		
											Reesman's	Excavating			
				Capitol P	avers, Inc.	LaLonde Co	ntractors, Inc.	Zignego Co	ompany, Inc.	Super Exc	avators, Inc.		ling, Inc.	C.W. Purpero, Inc.	
				18005 W. Li	ncoln Avenue	P.O. Box	x 070420		Duplainville Rd	N59 W14601	Bobolink Ave.		ıshnell Rd.	1190 W. Rawson Avenue	
				New Berli	n, WI 53146	Milwaukee	, WI 53207	Waukesha	, WI 53186		alls, WI 53051		, WI 53105	Oak Creek, WI 53154	
											·				
	ITEM	U	NITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
39	Catch Basins	31	Units	\$1,100.00	34,100.00	\$1,130.00	35,030.00	\$1,100.00	34,100.00	\$950.00	29,450.00	\$1,100.00	34,100.00	\$1,120.00	34,720.00
40	Catch Basin Abandonments	21	Units	\$150.00	3,150.00	\$164.00	3,444.00	\$150.00	3,150.00	\$300.00	6,300.00	\$265.00	5,565.00	\$195.00	4,095.00
41	Storm Manhole Abandonments	4	Unit	\$150.00	600.00	\$164.00	656.00	\$150.00	600.00	\$400.00	1,600.00	\$331.20	1,324.80	\$195.00	780.00
42	Cut-In Underdrain Connections	3	Units	\$100.00	300.00	\$285.00	855.00	\$100.00	300.00	\$200.00	600.00	\$150.00	450.00	\$200.00	600.00
43	8" Dia. Sanitary Sewer Relay	858	Lin. Ft.	\$96.00	82,368.00	\$110.00	94,380.00	\$96.00	82,368.00	\$100.00	85,800.00	\$97.75	83,869.50	\$107.00	91,806.00
44	8" Dia. Sanitary Sewer	441	Lin. Ft.	\$96.00	42,336.00	\$117.00	51,597.00	\$96.00	42,336.00	\$85.00	37,485.00	\$102.90	45,378.90	\$107.00	47,187.00
45	3'-6" Dia. Sanitary Manhole (10)	106	Vert. Ft.	\$180.00	19,080.00	\$179.00	18,974.00	\$180.00	19,080.00	\$150.00	15,900.00	\$193.70	20,532.20	\$315.00	33,390.00
46	3'-6" Dia. O.D. Sanitary Manhole (1)	11	Vert. Ft.	\$225.00	2,475.00	\$405.00	4,455.00	\$225.00	2,475.00	\$250.00	2,750.00	\$280.15	3,081.65	\$395.00	4,345.00
- 47	10" Dia. Building Sanitary Sewer (1)	18	Lin. Ft.	\$100.00	1,800.00	\$110.00	1,980.00	\$100.00	1,800.00	\$125.00	2,250.00	\$143.25	2,578.50	\$145.00	2.610.00
48	6" Dia. Building Sanitary Sewer (4)	64	Lin. Ft.	\$105.00	6,720.00	\$133.00	8,512.00	\$105.00	6,720.00	\$135.00	8,640.00	\$121.90	7,801.60	\$118.00	7,552.00
. 49	Sanitary Reconnects	15	Units	\$100.00	1,500.00	\$164.00	2,460.00	\$100.00	1,500.00	\$50.00	750.00	\$325.00	4,875.00	\$45.00	675.00
50	Install Internal Sanitary Manhole Seals	11	Units	\$100.00	1,100.00	\$150.00	1,650.00	\$100.00	1,100.00	\$175.00	1,925.00	\$99.00	1,089.00	\$120.00	1,320.00
5f	6" D.I.W.M. (Relay), Class 53 (R.G.J.)	640	Lin. Ft.	\$75.00	48,000.00	\$75.00	48,000.00	\$75.00	48,000.00	\$72.00	46,080.00	\$90.75	58,080.00	\$81.00	51,840.00
52	2" Copper Water Service (1)	10	Lin. Ft.	\$180.00	1,800.00	\$215.00	2,150.00	\$180.00	1,800.00	\$150.00	1,500.00	\$143.70	1,437.00	\$200.00	2,000.00
53	1" Copper Water Service (4)	89	Lin. Ft.	\$100.00	8,900.00	\$65.00	5,785.00	\$100.00	8,900.00	\$100.00	8,900.00	\$114.90	10,226.10	\$100.00	8,900.00
54	3" Water Service Reconnection	1	Unit	\$2,500.00	2,500.00	\$1,960.00	1,960.00	\$2,500.00	2,500.00	\$2,200.00	2,200.00	\$2,682.55	2,682.55	\$2,570.00	2,570.00
55	S. 70th Street 8" Watermain Alteration	1	Unit	\$14,000.00	14,000.00	\$14,000.00	14,000.00	\$14,000.00	14,000.00	\$17,500.00	17,500.00	\$13,460.80	13,460.80	\$23,400.00	23,400.00
56	S. 73rd Street 6" Watermain Alteration	1	Unit	\$10,000.00	10,000.00	\$11,000.00		\$10,000.00	10,000.00	\$11,500.00	11,500.00	\$9,152.50	9,152.50	\$11,900.00	11,900.00
57	S. 74th Street 8" Watermain Alteration	1	Unit	\$14,000.00	14,000.00	\$13,500.00		\$14,000.00		\$16,500.00	16,500.00	\$12,895.00	12,895.00	\$22,400.00	22,400.00
			•							,	-,	,	-2,	, +==,	

STREET CONSTRUCTION, SANITARY SEWER RELAY, SANITARY SEWER STORM SEWER RELAY, STORM SEWER, WATER MAIN RELAY, WATER MAIN, BUILDING SERVICES & UTILITY ADJUSTMENTS

				Bid Bo	d Bond 5% Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		
· ·	•											Reesman's	Excavating		
				Capitol Pa	avers, Inc.	LaLonde Co	ntractors, Inc.	Zignego C	ompany, Inc.	Super Exc	avators, Inc.	& Grading, Inc.		C.W. Purpero, Inc.	
				18005 W. Lir	18005 W. Lincoln Avenue		x 070420	W226 N2940	Duplainville Rd	N59 W14601	Bobolink Ave.	28815 Bu	ıshnell Rd.	1190 W. Rawson Avenue	
				New Berlin	New Berlin, WI 53146		, WI 53207	Waukesha, WI 53186		Menomonee Falls, WI 53051		Burlington, WI 53105		Oak Creek, WI 53154	
														<u> </u>	
	ITEM	L	JNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
58	S. 75th Street 6" Watermain Alteration	1	Unit	\$11,000.00	11,000.00	\$12,600.00	12,600.00	\$11,000.00	11,000.00	\$13,500.00	13,500.00	\$12,270.00	12,270.00	\$21,700.00	21,700.00
59	12" Watermain Alteration	1	Unit	\$10,000.00	10,000.00	\$12,915.00	12,915.00	\$10,000.00	10,000.00	\$12,500.00	12,500.00	\$11,138.25	11,138.25	\$11,000.00	11,000.00
60	6" Watermain Connections	2	Units	\$2,000.00	4,000.00	\$4,800.00	9,600.00	\$2,000.00	4,000.00	\$3,000.00	6,000.00	\$3,025.00	6,050.00	\$4,400.00	8,800.00
61	6" Valves	2	Units	\$100.00	200.00	\$208.00	416.00	\$100.00	200.00	\$850.00	1,700.00	\$180.00	360.00	\$70.00	140.00
62	Adjust Catch Basin Frames	36	Each	\$250.00	9,000.00	\$275.00	9,900.00	\$250.00	9,000.00	\$250.00	9,000.00	\$405.15	14,585.40	\$275.00	9,900.00
63	Adjust Storm Manhole Frames	31	Each	\$250.00	7,750.00	\$310.00	9,610.00	\$250.00	7,750.00	\$250.00	7,750.00	\$405.15	12,559.65	\$275.00	8,525.00
64	Adjust Sanitary Manhole Frames	12	Each	\$250.00	3,000.00	\$310.00	3,720.00	\$250.00	3,000.00	\$250.00	3,000.00	\$405.15	4,861.80	\$275.00	3,300.00
65	Adjust Water Valve Boxes	12	Each	\$150.00	1,800.00	\$230.00	2,760.00	\$150.00	1,800.00	\$55.00	660.00	\$198.50	2,382.00	\$240.00	2,880.00
66	Inlet Protection Barriers	48	Units	\$30.00	1,440.00	\$40.00	1,920.00	\$30.00	1,440.00	\$80.00	3,840.00	\$50.60	2,428.80	\$40.00	1,920.00
· 67	Manhole Protection Barriers	43	Units	\$30.00	1,290.00	\$40.00	1,720.00	\$30.00	1,290.00	\$100.00	4,300.00	\$70.00	3,010.00	\$50.00	2,150.00
68	Traffic Control	1	Lump Sum	\$19,500.00	19,500.00	\$25,000.00	25,000.00	\$13,500.00	13,500.00	\$13,700.00	13,700.00	\$20,286.00	20,286.00	\$13,400.00	13,400.00
	Totals				1,018,457.47		\$1,058,649.63		\$1,066,468.25		\$1,077,443.35		\$1,140,302.95		\$1,140,313.70